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THXy « T - R - 5 B TN B B G EHAm & T2 (BB
AL [EIE
= 1 142, 603, 614
AR T
= 1 13,729, 071
Sl AR T

= 1 13,729, 071
EEERR G TAT7VMEZERR EH2E/E 40mm 700m
(1) AE—fE

=X 0 0
HERR T 7RI 7R H% 40mm 700m
(1) AE R

= 1 531, 300
AR BT TAT7VMEREERR %R 100mm 20m
(2) GITFH(A<W=8)

=X 0 0
AR BT TAT7VMEREERR %2 100mm 20m
(2) GITFH(A<W=8)

= 1 15, 180
AR BT TAT7VMEREERR %R 150mm 160m
(3) BIFHEB<W)

=X 0 0
AR EINT TAT7VMEREERR %R 150mm 160m
(3) BIFHE(B<W)

= 1 121, 440
AR EINT AsEHHERR+CobHEER+27 ) B 650m

JEE 520mm

(4) HIEHD

= 1 1,018, 024
ElEERR BT AsEHEERR+CobHEER+27 ) B 280m

JEE 470mm

(4)-1 HEHS

= 1 5, 086, 760
AR BT AsEREERR+277" 1% B2E)E 520mm 320m
(4)-2 HEHS

= 1 3, 034, 560
RO TAT7WMEREERR t=4cm
(1)

m2 290 2,417 700, 930
Al AR A TAT7MEHEERR t=10cm
(2) GITFHE(A<W=8)

m2 6 3,015 18, 090
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| T2 (BB
LR TAT7VMEREERR t=15cm
(3) BIFHLEB<W)
m2 79 3,513 277, 527
LB AsEHHERR+CofliZER t=32cm
(4) HIEHED
m2 0 5, 385 0
RO AsEHHERR+CofliZER t=25cm
(4)-1 HEHS
m2 130 3, 666 476, 580
RO AsEHERR t=38cm
(4)-2 HEHS
m2 160 5, 641 902, 560
BB AsEHIERR+BSARARHI+A7 ) B =5
2cm
(5) HIEHD
m2 0 9, 445 0
BB AsEHIERR+ BRI HI+A7 ) B t=4
Tem
(5)-1 HE#HL
m2 130 6,212 807, 560
RO AsEHIERR+ BRI HI+A7 ) B =5
2cm
(5)-2 HEHL
m2 160 4,616 738, 560
BRI+ T
= 1 10, 794, 633
PRI T
= 1 5, 302, 930
BRI 660m3
= 1 4, 252, 848
b S +Hp 220m3
(1)
= 1 1, 050, 082
MRLT
= 1 3,711,076
WE L - filE D +w 210m3
= 1 1, 634, 896
HEEL - HFE D AL 240m3
UK D)
= 1 1, 689, 740
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| T2 (BB
HE L - fiilE o WD oD 40m3
UK D)

= 1 386, 440
PR AL T
= 1 1, 780, 627
B 7 Ao MLEL 220m3
=N
= 1 23,792
S E T G FRRY 15T 220m3
(2) B
= 1 737,015
b S T Cadl- ERiRY L&) 30m3
(2)-2 B
= 1 155, 880
b3 e U HY L (5o ) 30m3
= 1 863, 940
BRI RS T
= 1 44, 280, 035
7 VERANE 9 )AL (RRRRED)
= 1 15, 936, 916
R X #EA 1A
(1) 1200 1800 X 3500
(&30 1 1, 425, 900 1, 425, 900
R X HOEA 1A BEEREA 01
(2) 1200 1800 X 4000
T 2 1, 665, 490 3, 330, 980
R X HOEA 1A BEEREA D1
(3) 1200 1800 X 4000
T 1 1, 544, 788 1, 544, 788
R X #EA 1A
(4) 1200 1800 X 3500
T 2 1, 325, 247 2, 650, 494
FEREGR
=X 0 0
FEREGR &
= 1 1, 592, 589
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TRy - T - A% - A5 WO LFEAL B G EHAm & T2 (BB

7 Gyt 450 X 500 X 900

T 2 227, 756 455, 512
AR AN B 920 X 500 X 2200

T 0 781, 723 0
el Y VAN Rl 710X 995 X 1280
(2)

T 1 1,177,701 1,177,701
el Y VAN Rl 710X 995 X 1280
(3)

T 2 1, 143,925 2, 287, 850
VAN 600X 600X 750
(1)

T 1 176, 249 176, 249
VAN 600X 600X 1350
(2)

T 7 184, 979 1,294, 853

BT (E L)

= 1 28, 341, 459
B BAE ¢ 130 HEF
(1)

m 1,061 4, 852 5,147,972
B BAE ¢ 130 dhF
(2)

m 96 6,311 605, 856
PR EHE ¢ 130 4 (IR)
(3)

m 0 29, 866 0
B BHE ¢ 100 HEF
(4)

m 1,244 4,139 5,148,916
B BAE ¢ 100 dhE
(5)

m 144 5, 782 832, 608
RS BEE K7 4E BE 0200 X

B (p50%65%, ¢ 30%25%)

(6)

m 324 11, 261 3, 648, 564
HEAE BEE 78 i 0200 XX

B (p50%65%, ¢ 30%25%)

(7)

m 96 25, 637 2,461, 152
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TRy - T - A% - A5 WO BRI % & A A A HE (G R

HERE K WEE (FAE) ¢ 160 B
(8)

m 324 5,615 1,819, 260
HEERE K WEE (FAE) ¢ 150 Hi%E
9)

m 96 13, 958 1, 339, 968
HEERE K WEE ¢ 100 B
(10)

m 324 4,689 1,519, 236
RS R ¢ 100 #he
(11)

m 96 9,223 885, 408
HEERE K EE ER - 5HA) ¢ 100 EE
(12)

m 59 4,139 244, 201
HERE K EE GER - 5HA) ¢ 100 dhE
(13)

m 34 5, 782 196, 588
HEERE K BEE GER - 5HA) ¢ 100 B
(14)

m 16 4,689 75, 024
HERE K BEE GHR - 5HA) ¢ 100 i
(15)

m 8 9,223 73, 784
HERE K WEE GER - SHA) ¢ 75 EHAE
(16)

m 148 4,425 654, 900
HEERE K WEE GER - SHA) ¢ 75 M
a7

m 14 7,421 103, 894
HERRE K BEE GHR - SHA) ¢50 HAE
(18)

m 157 3, 652 573, 364
MRS ENE 6 130/
(1)

1@ 1,133 392 444, 136
HRE K2 A EHE ¢ 100
(2)

1@ 1,283 399 511,917
HRE K2 A WEE ¢ 200&
3)

1@ 422 530 223, 660
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TRy - T - A% - A5 WO LFEAL B A A A HE (G R

HRE K2 A WEE ¢ 150&
(4)

1@ 210 396 83, 160
HRE K2 A WEE ¢ 100&
(5)

1@ 418 324 135, 432
HRE K2 A WEE o T5EM
(6)

1@ 127 231 29, 337
HRE K2 A WEE o 0MEM
(7

1@ 82 205. 16, 834
Dy A WEE KA ¢200
(1)

PN 6 51,313 307, 878
- BEE KA 6200
(2)

PN 6 42,583 255, 498
AN WEE ¢200

PN 6 28, 809 172, 854
ES/RUF I ES ¢ 150

PN 6 8, 468 50, 808
U7 Sl BEE 650
(1)

PN 72 1,173 84, 456
U7 sl WEE 630
(2)

PN 24 787 18, 888
R F RV W=400

m 954 433 413, 082
%5373 500 X 616 X 22

# 8 32, 853 262, 824

TEHR AL T

= 1 1, 660
B F A b 25 (Gkadh) 0.13t

= 1 1, 660
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| T2 (BB
Al T
= 1 61,671, 440
IR T
= 1 5,043, 188
RIEIA (1) A E— i t=24cm(As t=4cm)
m2 273 5,114 1,396, 122
RAEIR (2) BIFHEE(A<W=8) t=35cm (As t=10cm)
m2 6 9, 287 55, 722
A 1R (3) BB (8<W) t=45cm(As t=15cm)
m2 79 12,561 992, 319
RIEIA (4) HEE t=48cm(As t=10cm)
m2 275 9, 451 2,599, 025
AR IE T
= 1 2,203, 800
AR IR HEER t=32cm(As t=10cm)
m2 0 8,817 0
RARIE IR (2) HE t=25cm(As t=10cm)
m2 131 7,011 918, 441
RARIE IR (3) HE S t=38cm(As t=10cm)
m2 157 8, 187 1, 285, 359
TR T
= 1 45, 798, 492
AR BT AsEHHERR+CoBlEER+AT )" 6 & 470m
JEE 350mm
HIE TS
= 1 1, 752, 692
EEERR BT AsEHHERR+A7)" B A% 400mm 250m
(2) HIEHD
= 1 928, 000
Al AR (B0E e 1) CotAs (W —) Bl2EAR SHZEHRUE 32
cm
(1)
m2 0 1,952 0
-7 - E hzzim B AH A R
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THXy « T - R - 5 B LFEAL B G EHAm #H T2 (BB

Al AR (B0E e 1) TAT7WMEREERR SHEERRE 10 ¢ m
(2)

m2 275 1,607 441, 925
Al AR (B0E e 1) CotAs (W —) Bl2EAR SHZEHUE 25

cm

(3)

m2 667 1,578 1, 052, 526
Al AR (B0E e 1) TAT7VMEREERR SHEERRE 38 ¢ m
(4)

m2 809 1, 789 1, 447, 301
REFEHEIE flEA L

m2 0 506 0
M IE flEA L

m2 1, 850 397.8 735, 930
e rh S T Cadl- ERiRY L&) 70m3
(1)

= 1 199, 626
S E T Gt FRRY 1A 70m3
(2) B

= 1 271, 532
B s Ao ALEL 70m3
R

= 1 8, 765
PHauRiiie SRR (727 7 MEERR)
(1)

m3 488 3,749 1,829, 512
PHanRiiie SRR (227) — M EERR)
(2)

m3 175 3,749 656, 075
PHauRiii SRR (A7) )
(3)

m3 0 9,273 0
PHauRiiie AR Q5 YT ) )
(4)

m3 141 6, 464 911, 424
ALy TAT 7 bk
(1)

m3 488 5, 698 2, 780, 624
ALy av9Y)=hik (IE57)
(2)

m3 175 6, 382 1, 116, 850
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TRy - T - A% - A5 WO LFEAL B G EHAm #H T2 (BB
ALy A7) A
(3)
m3 0 14, 986 0
ALy 157 ) B
(4)
m3 141 45, 810 6, 459, 210
- FHEIR S 22 BB (40) fEY
JZ 100mm
m2 799 3, 500 2, 796, 500
i BRI EET A2 (20) AfEEIE 150
mm 3. Omi&
m2 799 6, 508 5,199, 892
i FE KRR A2 (30) EZEE 300
mm 3. Omi&
(2)
m2 982 9,794 9,617, 708
) =] S As HURITTRY (20) DS5000 Aidt
JZ 50mm 3. OmiB
m2 0 2,691 0
=] S As HURITTRY (20) DS5000 Aidt
JZ 50mm 3. Omid
m2 1, 900 2,225 4, 227, 500
EE FESR T AT, (20) AfEEIE 50m
m 3. Omtd
m2 0 2,196 0
S FEBRI T AT (20) AfEEIE 50m
m 3. Omtd
m2 1, 900 1,771 3, 364, 900
BIHIA-N" -/ T
= 1 8, 625, 960
GIA-n" =14 TemPA N —J8 BZETVOITE %
B As #RIITR (20) DS3000
m2 2,510 3,106 7,796, 060
AE M (B i B AsBIHIRF
m3 100 2,601 260, 100
ALy TAT 7V bk
m3 100 5, 698 569, 800
Bk 1
= 1 1, 066, 296
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T Xy« LA - AR - A0 B BRI % & A HU i HZ (BB
A T
= 1 1, 066, 296
LoZU{li $ 300 —HE FRT CREEERT
nyJ)
1)
m 0 36, 598 0
LoZU{lis $ 300 —fHE FRT CREaEERT
nyJ)
2)
m 0 35, 987 0
LI HATEREWTES FR T (R E B R
7 ny))
m 56 19, 041 1, 066, 296
AT
= 1 170, 300
[ ZEmn
= 1 170, 300
X VAP
m 18 8,676 156, 168
rh g oy B —f%ES FFH
1)
m 1 9,137 9,137
rf g oy B BATERME A
)
m 0. 8, 326 4,995
X R L
= 1 246, 329
X iR L
= 1 246, 329
VRl =X TR A TFE) AR 15em JE 1. 5mm
AR P fil 2 fe
(1) B
m 0 333 0
VRl =X TR A TFE) AR 15em JE 1. 5mm
A P fil 2 fe
1)
m 280 423.3 118, 524
VRl =X TR AT E) R 15em 21, Smm
B P fil 2 fe
(2) B
m 0 355 0
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T Xy« LA - AR - A0 B BHEAL B & A HU i HZ (BB
Rl =X TR X TE) AR 15em 21, Smm
A P fl 2 fie
)
m 7 457.8 3, 204
VRl =X TR WA TE) R 30em JE1. Smm
A P fil 2 fie
(3) B
m 0 624 0
VRl =X TR X TE) AR 30em JE1. Smm
AR P fil 2 fe
(3)
m 12 788.8 9, 465
VRl =X TR AT E) 777 45em JEL Smm
AR P fil 2 fe
(4) B
m 0 834 0
VRl =X TR AT E) 777 45em JEL. Smm
A P il 2 fe
(4)
m 90 1,028 92, 520
VRl =X TR AT E) 777 90cm JE1. 5mm
AR P il 2 fe
(5) JB-H
m 0 1, 668 0
Rl =X TR AT E) 777 90cm JE1. 5mm
AR P il 2 fe
(5)
m 11 2, 056 22,616
MEEP L
= 1 408, 212
PRSI
= 1 352, 520
LT Al %= — S AT GREGEEE ST ny))
1)
m 0 12,328 0
LTl %= HATEREWTES R (R E B R
7 ny))
)
m 0 12,328 0
LI 22 fi 2=
m 56 6, 295 352, 520
[EZEL G
= 1 55, 692
RS ny 2 150 X 180X 600 FFFl)
m 18 2, 780 50, 040
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
Ry B —f%ER R
(1)
m 1 3,533 3,533
Ry B BATERME A
(2)
m 0.6 3,533 2,119
Gan
= 1 10, 237, 298
- 8F - B T
= 1 1, 603, 144
B SRR (FERRIE AT
= 1 1, 603, 144
AR T
= 1 8, 634, 154
ARG B 9 ) H
A BRI
= 1 158, 624
AW B 6 ) H
B R
= 1 91, 665
AW B 116 A H
A K
= 1 3, 066, 170
AW B 232\ H
B K[
= 1 5,317, 695
[EEPIE % ¢
= 1 142, 603, 614
MR
= 1 30, 283, 164
B ERE
= 1 16, 457, 396
TEE
= 1 155, 432
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
R R R 26
= 1 131, 040
I TR 2.2t
= 1 24, 392
el
= 1 5,799, 541
Eawii
= 1 4, 964, 040
B ® =V 7 )T
(2)
= 1 835, 501
s g
= 1 7,845, 707
JE R FEART I AT B
= 1 49, 770
TR
= 1 63, 107
BIM/CIWE A LHICE S 5% A
= 1 7,732, 830
B mEsET (K310
= 1 2,656, 716
MR E (FE L)
= 1 13, 825, 768
Wi
= 1 172, 886, 778
B
= 1 54,177, 813
T AT
= 1 227, 064, 591
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
— R
= 1 31, 040, 994
= 1 444, 415
TS
= 1 258, 550, 000
THEBLFH Y %H
= 1 25, 855, 000
TH#&G
= 1 284, 405, 000
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